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Find the value of an expression with given values.
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ConocTaBbTe HEPABEHCTBO M MHOMECTBO €ro pelleHui:

Match the inequality and its set of solutions:

A)dx +5=>6x—2 1.

B)x —1<3x+2 T
B)3x —x%2>0 3. 3,5
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PewunTe cnctemy ypaBHeHUI. B oTBET 3annLLINTe KBaApaT MeHbLLEro Ymcna. 1
Solve the system of equations. Write down the square of the smaller number
as your answetr.
{Sx +4y = —4
—3x -2y =2
ConocTaBbTe aHANUTUYECKYO Gopmyny GyHKUUM C eé rpadrKom: A-1
Match the analytical formula of the function with its graph: b-4
y B-6
1. y=—2x—4; r-7
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5. y=x2+75;
6. v =x2+ 6x + 5;
X
y=7

PewuTe ypaBHeHMe. Ha CKONbKO OAMH KopeHb 6onblue Apyroro?
Solve the equation. How much is one root larger than the other?

x2—-3x—-40=0

13

PewunTe ypaBHeHMe. B 0TBET 3aNMLLINTE MEHBLUUIA KOPEHb.
Solve the equation. Write down the smaller root.
|—x + 2| =3

YnpocTuTe norapudmMmnyeckoe BbipaskeHue.

Simplify the logarithmic expression.
36l0g65

25

Haiigute anmnny sektopa d(6; 8).
Find the length of the vector.

10




10. | PewuTe HepaBeHCTBO. B OTBET 3anuMLLINTE CKOMBLKO Lie/biX Yncen apnaetca 7
pelweHnem HepaBeHCTBa.
Solve the inequality. In response, write down how many integers are the
solution to the inequality.
x+5 0
>
3—x
11. | pewnre ypasHerne: V2x — 8 = 5 16,5
Solve the equation.
. .1 02
Boiumcaure: sin (arcsin E) ’
12.
Calculate.
1,1
13. HaﬁTmcymmy:2+1+E+Z+"' = 4
Calculate sum
14. | pewnrte ypasHerne: 3¥77 = 81 11
Solve the equation.
15. | Cropbl 6pocman maymnK. B nepsyto ceKyHay OH nponeten 9 meTpos, a B 145
Kakayto nocneayoLuyto cekyHay Ha 10 metpos 6onblie. CKONbKO MeTpoB
NPONETUT MAYUK 3a NepBble NATb CEKYHA?
A ball was thrown from the mountain. In the first second, it flew 9 meters,
and in each subsequent second, it flew 10 meters more. How many meters
will the ball fly in the first five seconds?
16. | Ha ak3ameHe 60 6mneToB. MBaH He Bblyuna 3 U3 HUX. HalilauTe BepOATHOCTb 0,95

TOro, YTO emMy NONAZETCA Bbly4eHHbIN buner.
There are 60 questions on the exam. Ivan did not study 3 of them. Find the
probability that he will get a question he studied.




17. | Pewunte ypasHeHue: cOS2x — cosx = 0 BuibepeTe Bce BepHble AL
MHOXeCTBa ero KopHei. B otseT 3anuwmnTte bykBbl 6€3 Nnpobenos 1 3HaKOB nmm
npenuHaHma. AA
Solve the equation. Choose all the correct sets of its roots. Write down the
letters without spaces or punctuation marks in the response.

A) 2mk
B) mk
A
B)+ 3 + 2wk
VA
N + 5t Tk
21
n) + Y + 2mk
VA
E) )+ St 21k
1g. | PewmTe HepaseHcTeo: |2x — 3| < x B oTBeT 3anuwMTE Hanbonbliee 3
uenoe peweHne HepaBeHCTBa.
Solve the inequality. Write down the greatest integer solution to the
inequality in the response.
19 PewwuTe HepaBeHCTBO. B OTBET 3anuMLInNTE CKOABLKO LefblX Yncen apnaerca 1
" | peweHnem HepaBeHCTBa.
loggs(1+ 2x) > —1
Solve the inequality. Write down how many integers are solutions to the
inequality in the response.
Haii Yy =—x%>—6x —5 -3
20. nauTe TOYKY Makcumyma QyHKUmm: Yy =

Find the maximum point of the function.




